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אאאאאאאK
אאK

٤�٥٥).(
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)( lfcuxcu PxP = 

٤J٨J٢א
      אאoutput powerאאאא

אאא،אאW

٤�٥٦
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P٢،אP١אאאKאאאW
٤�٥٨2222 cosφIVP =

cosφ٢אPower factorK
P٢א٤J٥٨א٤J٥٦אאא

WEאאאFאא
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٤J٦א٥٠٠אא،٢٥٠٠אא
אא٧٥٠٠אאKאאאאא 

٨,K
אKVA=٥٠٠               Piron =٢٥٠٠W    Pcu(f.l.)=٧٥٠٠ W     cosφ=٨}٠                

        P٤٠٠٠٠٠=٨}٠*١٠٣*٥٠٠=٢ W 
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At half load 


